FINAL ANSWER FOR BIOLOGY SOLUTION : 6 Desember 2016

Answer : D and F

Point:[Explanation :

D. Animals that use behavioral adaptation to manipulate temperature
F. Ectothermic animal: Animals referred to cold blooded, they are hot when their
environment is hot and cold when their environment is cold

Answer : |

Point:| Explanation :

Heparin, acts to inactivate thrombin and prevent the conversion of fibrinogen to fibrin

Answer : B and G

Point: | Explanation :

B: Predator:

T: Carnivore

G: Third tropic level > compulsory

Mature komodo dragon’s prey mainly are life deer and wild buffalo

G and B = 1.0 point

Gand T = 1.0 point

G,Band T=1.0

G, other than B and T = 0.5 point

No G, with either B and T = 0.5 point




Point: | Percentage 2013: 100%
2014 : 95.97% (point 0.5)
2 2015 : 93.54% (point 0.5)
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Figure 1. Komodo Population
Total point of construction histogram is 1.
5 item answers @ 0.2 point: Histogram title, x-axis title (year), y-axis title
(percentage), year of observation (2014, 2015), the graph must be a histogram.
Option:
1. The graph must be a histogram, others are incorrect
2. The keyword for title of the histogram is Komodo Population
3. X-axis title keyword: year
4. Y-axis title keyword: percentage or %. As long as consistent in writing style,
any number or scale is allowed.
5. 2014, 2015. Extra 2013 is allowed.
5. Answer : P and Q
Point: | Explanation : (P.) Decreasing the population of komodo-dragon’s prey

And (Q) lost of komodo Habitat




Answer : H(3,4,5)

Point:

Explanation :

A pure carnivore has a simple tube for an intestinal system. That tube has a
bulge at the beginning of it that serves as a stomach. The tube then winds
and twists inside the abdomen of the carnivore. Cecum:

The cecum in a carnivore digestive system is a tiny useless appendage

Answer : @ 0.286

Point:

0.286

1.1:zNz"
1.2: ZNW
2.1:72"W
2.2:ZNz"
2.3:Z"W
3.1: 7MW
3.3:Z2"W




ATTENTION

This table is used for question number: IIl. 1,1II. 3,Ill. 5

Number of Number of Number of correct | Point
expected answer(s) answer(s)
correct
answer(s)
2 2 2 1
2 1 0.5
3 1 0.5
3 2 0.5
4 or more Not to be 0
considered
Question contain only one correct answer ( 111.2)
Number of Number of Number of correct | Point
expected answer(s) answer(s)
correct
answer(s)
1 1 1 1
2 1 0
Question contain only one correct answer ( 111.6)
Number of Number of Number of correct | Point
expected answer(s) answer(s)
correct
answer(s)
1 1 1 2
2 1 0




